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I -� � . I0 -� � .
I
I0

M = log
I
I0

0.01 0.001 10 = 101 1

0.1 0.001 100 = 102 2

1 0.001 1 000 = 103 3

10 0.001 10 000 = 104 4

100 0.001 100 000 = 105 5

1 000 0.001 1 000 000 = 106 6

10 000 0.001 10 000 000 = 107 7

100 000 0.001 100 000 000 = 108 8

1 000 000 0.001 1 000 000 000 = 109 9

#
�����$���� � 
 ��� 
 �����
� ��������
� � � 
 ������

�� � 
���� 
 ���
�� M1 = 8 = log
I8
I0

�M2 = 4

= log
I4
I0
� &�	����
 �������
 �
�
 ���
 � � �� ��������

�� ��� � 
������
 ��
 �������
 �� 
	
� �����
 ���� "
 �

�
� 10� +�
�
 �� I8 = 108 · I0 �I4 = 104 · I0�
5������'

I8
I4

=
108 · I0
104 · I0 =

108

104
= 104,


��
��


I8 = 104 · I4.
/
 ���������� 
 �
 �� � 
���� � 
 ������� 8 � ��� ���	


� 
 A ������
	
������	���10 000 � ��
 	�$�� �
 �
� ��
�

� 
���� 
 � 
 ������� 4�

&� ���
 ����
 ��
 
 ��� �
 "������
 ��
 �� 	����
 �� �
 �
� �

� 
���� 
 ��� � 
�����
 ��
 �������
 � "
 �
� 10�����
��� �������� 
 ��
 �
� �� 
���� 
 �
 � �� ��� � 
������
 ��
�

 
 ��
 ����
 "���������� 
���� � A �� �"����? �	
 �� �
� ��

� 
���� �
���� 3>�� �
����
 3636��
���� � 
�
��


��
 � �������� � 
 ������� 6.4 � ��� ��
 � 
 A ������
	
�

�����	���� 9.5 � ��� ���	
 � 
 A ������
	
� �����	�����

� 
 ������
 �
 ���
 ������� ��
 �
 �
 "��������
� � 
����

� 
 � � 	����� �
���� � 
�
��
 ��
 � 5
 ���	��
 � �%���� 33�

�	�"��
 7>96��
�����&��
 ����
 �� 
 �
 �
 	 �� 
��
�

�
 �
� ����� � 
���� 
 �

,
 ������� � �
� 
 ��
 ��� � 
���� 
 ���
��'

6.4 = MPetrinja = log
IPetrinja

I0
=⇒ IPetrinja = 106.4 · I0

9.5 = MValdivija = log
IValdivija

I0
=⇒ IValdivija = 109.5 · I0.
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IValdivija

IPetrinja
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106.4
= 103.1 = 1259.
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3
2
· M = log

E

104.4

1.5 · M = log E − log 104.4

1.5 · M = log E − 4.4.
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log E2− log E1 = 4.4+1.5·(M1+1)−(4.4+1.5M1)

log
E2

E1
= 4.4+1.5·M1+1.5−4.4−1.5·M1 = 1.5

E2

E1
= 101.5

E2 = 101.5E1

E2 ≈ 31.6227766E1.
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EValdivija = 104.4+1.5·9.5 = 1018.65
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EPetrinja
=

4.466836 · 1018

1014

= 4.466836 · 104 = 44 668.36.
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������ �	 ������ ��������	�. ���������� �� �����
����.
������ !4�4�4. ��� ���������!. http://www.stem-
genijalci.eu/wp-content/uploads/eucenje/
matematika/4QR Prirucnik Mat-inf web%20
pregled.pdf.
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